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PART -1II1
sewta@Lugledwed / ACCOUNTANCY

(0D wHmid gymdle euyfl / Tamil & English Version )

&M 3iemey : 3.00 wawfl G ] ‘ [ Qurgs wHLCueTEET : 90
Time Allowed : 3.00 Hours ] [Maximum Marks : 90
Sidleyemrsst : (1) @aiss demss@sbn sflwurs uglars e dargr aaugo e
sfluniggs Qarararayb. Sbastudeid GopulllBula Hops
semarefliurenfb 2 Languwrss Csfeilésayb.
(2) Beob <ivwg smUY eowwWioer LLHCL TWHUSHEGWD
S ECHTRHusHEWL LWeaU®Ss CauamBb. LRSS aiefasnE
Quenéléd LweTLHSSYLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@l - 1/ PART - 1
GOy : () Sewensg damésEnéEn oL wallésay. 20x1=20
(i) Qer@ssuul_@erer wrpm eleorsaid Wsayb ghymw
leLews Csrpes®s5516 GOUELOLar elleLulenanyd Caiss)
GT(PSHELD.
Note : (i)  Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

Qupliysmets srlgaib WlEuerar QFrSHEISHET :

(1) BLLID (<p) CprEsid (®) pze
The excess of assets over liabilities is :

(@) Loss (b) Cash (c) Capital

sLen clihuemeng Clgmens 5@&5@;; __‘cs_lsu_lr:rr_ﬂl_‘éaslllu@sugj :
(1) Quwrss asl_smrraﬂeseﬁ &1 -

() Qo sLa3GaT s, ~

(@) QupspElu LIPNEE R &/G

(r) QegusspEiu wIHDFFLH &/E

The amount of credit sales can be computed from :

(a) Total debtors account

(b) Total creditors account

(c) Bills receivable account

(d) Bills payable account

QumIBEDEET LHMID CFQISSOEET FETED @

(<) Quuirere] &/G (<) Qs &/

(7) @eomud

(d) Profit

() et &/ () drdfldsgion sparert &/

Receipts and Payments account is a :

(a) Nominal Account (b) Real Account

(¢) Personal Account (d) Representative Personal Account
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GO L Crréssdnsrs Qubp panCsraL :
(31) eumeuruer curay (<) apaellan aurey
(8) aumeuruiar Qsaey () pgelans Clsaway
Donations received for a spegific purpose is :
(a) Revenue receipt (b) Capital receipt

(c) Revenue expenditure (d) Capital expenditure

o Lifl g ug’aﬁ)rré;@emm eran (lgLd &/ :
(1) QuuiseseT HMID CegISosaT &1 &
(<)) QUEHAITI LoHOID Qsveleans &/

(@) efwrury &/

(FF) @eru - pLLE &l &

Which Account ends with surplus or deficit ?

(a) Receipts e;nd Payments Account

(b) Income and Expenditure Account

(c) Trading Account

(d) Profit and Loss ‘Account
[ Smuls / Turn over
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6.

Geneumpaiaraunles erg @aru Bl udie) samsdd srLOUBD ?
(1) SYuess Qewaser (<2y,) wemflwmert oardliid

(@) s Lreflulienr ardluin () eubdldsLen 158 eIl |
Which of the following is shown in profit and loss appropriation account ?

(a) Office expenses (b) Salary of staff

(c) Partner’s salary (d) Interest on bank Ioan

1Gereumeuareunléd ergl eflwmm G@enent ?

Wse» semsdle LM emeussLILL
Gouenr(phd

(<=1) er@liyser Bg el iy
(<) psed 155 eui'ly - S0 sasHled eure] eeUSHHLILIL
CouskT@Dd

(Q) sLer gl eully - s sendEdld Lby eneussiLiL
Couarr(Ld

(F) @eru udlire) - (5L saMESID UTe] ePeUSELILIL
Geuanr(Hd

Which of the following is incorrect pair ?

(@) Interest on drawings - Debited to capital account
(b) Interest on capital - Credited to capital account
(c) Interest on loan - Debited to capital account

(d) Share of profit - Credited to capital account
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sygrefl @emub T 25,000 whmd srgmyesr @oruib T 15,000 46 @)HEEGLEUTE

2 Wit @erud :

(<=1) T 25,000 (<) T 5,000 (@) % 10,000 (/) % 15,000

When the average profit is ¥ 25,000 and the normal profit is ¥ 15,000, super profit is :

(a) T 25,000 (b) T 5,000 (© % 10,000 (d) % 15,000

BH@AUweny peansaise wHIALemb.

(1) 2 ()3 (&) 4 (F) 5
methods are there to value goodwill.

@ 2 ®) 3 © 4 @ s

omd USRS &/& @ :

(=1) Qarsg &/G (<) Quwuirare] &/G

(@) serant &/@ (F) <paremym &/@

Revaluation A/cisa:

(@ Real A/c (b) Nominal A/c

(c) Personal A/c (d) Impersonal A/c

[ HmLines / Turn over
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11.

12,

erg) eflwnesr Genewr ?
(=) ydw s rafl Gailiy -

(=) uenpw sl Lmafl aflese -

(8) pHQuWT -

() @QbHw sal L ramein FLb -

Which of the following is correct pair ?

1]

(a) Admission of New Partner
(b) Retirement of Old Partner -
(c) Goodwill -

(d) Indian Partnership Act -

5T 69E)E0
Surs eldgLd
spLemens Clerss)

1932

Gaining Ratio
Sacrificing Ratio
Fictitious Asset

1932

oS ger Gurg Qurmiysefler Sifsilly smeug :

(<=1) <psmubd (<) BL_LLD

(8) @erubd (rF) Gupsear ergie]bldeame

On revaluation, the increase in liabilities leads to :

(@) Gain (b)

(c) Profit (d)

Loss

None of these
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14.
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1Qere(melaTeuD il 6T <sifs Himeiad 26060 ?
(<=1) @pdwer uled. smiriiuGragen
(<) UMs LISI@L[S]GST fmeuemd ¢ siantipy B 2
(®) Bén-Curélev, euenmim Hmiod

(fT) guﬂg}!ﬁ“@ G]B:U._I‘e;ﬂgg)rrm 5[[@5@@@@@ T R A

ey i e T
AL (¥}

Which of the following is not a Government Organisation:? «i 3r
(a) Indian Oil Corporation Ltd: -

(b) Bharath Heavy Electricals Lifnite'd

(c) Infosys Limited

(d) Tamil Nadu Newsprint and Papers Ltd.

(pswdlienu el <iflswors Qupp gTams aure| MaUESLILHD SeTEE @

(1) LSST (penanod FEEG - - (<) SHEOPLIL| (PETLIETTE STES <

(@) ukE WsD ETES (/) LRE @OUARLLS S@TES -

The amount received over and above the par value is creditedto :

(a) Securities premium account (b) Calls in advance account

(c) Share capital ~(d) . Forfeited shares account

[ Hwliys / Turn over
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15.

16.

17.

B8 erergd Qered GHUGHeug

(1) Brogt Qumgiiysar (<) poOLPOD WPH

(8) Rees Qsrggser () Beiri sraé Qemssise
The term ‘Fund’ refers to :

(a) Current liabilities (b) Working capital

(c) Fixed assets (d) Non-current assets

gl CrrsE 2ihlsms LUgSlaamers Clemerg.

(1) 3 (<2p)4 (&) 5 (/) 6
A comparative statement haé columns.
(@) 3 (b) 4 (€ 5 (d 6

LEigsTT BHEED QLrEs CeTsgsErsED o drem eq\flgTEFTIID

(<=1) efepwwimeri cflEl50 (<) W& 2 Bg Hmen eI FD

(@) up SsEumgILIL el FlHLD (/) BLUL edl8lgD

Proportion of shareholder’s funds to total asset is called :

(a) Proprietary ratio (b) Capital gearing ratio

(c) Debt equity ratio (d) Current ratio
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19.

20.
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BLUUE Cerdgiser T 12,000; pLiiy Qurmliyser T 6,000; erafled BLULY
ez :

(31)1:2 (24)2:1 (@) 1:1 () 2:2
Current Assets T 12,000; Current liabilities ¥ 6,000; Current ratio is :

(@ 1:2 (by 2:1 @ 1:1 (d) 2:2

FL6TS SauT&E Weteumd erhs samelidear S eumd ?
(<=t) Corg. euBLoTaTRISET (c"g,) Crrigd Qewelamiser
(Q) LdPDPS GU(HLOTEIEISET () wepuws Caweliambiger

Salary account comes under which of the following head ?
(a) Direct Incomes (b) Direct Expenses

(c) Indirect Incomes (d) Indirect Expenses

vwerfler CgamausCanu swrfEsiu@n samsdwud SiblEmsurearng :
(<21) eupssonar samssd iP&Ems

(<) GO L Crrés Sihléms

(&) @ouumie

() Qoiufess ehoy

Accounting report prepared according to the requirements of the user is :

(a) Routine accounting report
(b) Special Purpose report
(c) Trial Balance

(d) Balance Sheet

[ HpLliys / Turn over
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LigS) = II/ PART - II

ﬂmm@m@lﬁ (P aﬁ]surrrasaz@as@ aﬁlsml_lusrﬂa;aamm cgneug)ﬂeu aﬁle‘o'rrr 6T &
30 -5 &LL_muons aﬂcm;uaﬂa;&.mm i o s, winr 1 Ix0aTR

¢ iw‘?r any seven questions in which question no. 30 is compulsory.

T S

21, fHlene SIMGens GTEmITED Grali@T 2. . i e
What is a statement of affairs ? |

22, emau@Hd sseusallell(HhHg Borub OO BL LS50S FaRTL_Olweyb. "

eSleumid T
2018 garauil 1 &WQI@‘&;GU oot 7LD 90,000
2018 e 31 @iy e |180,000

ameurr&ssrq_su G]asfrmr@ m@g ah@g,su @og,co 40,000

<3| GueUmeiTIg-6) GT(RLILI&ET 50,000

From the following particulars ascertain profit or loss.

Particulars 7
Capltal ason1* January 2018 2,20,000]
Capital ason 31% December 2018 | 1,80,000 E

Additional capital introduced during the year . 40,000

Drawings made during the year 50,000

23. puiet e mUnfert sLLewrd — S @Ol STeyib.

Write a short note on life membership fees.
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24. ﬁ]sme:u@.Lb efleupiiser FTem LT sisear shissHen elBouni wpmib Cleaweilerns
semssle) ereueuny Cgmemmid erand &riLeyLb.

i
1.4.2018 ey er(FQUITmeTEHeT Gy 2,600
D|GUeuTeRTIGe) ULl 6T(pg Qum(meTasaT 6,500 ' \
31.3.2018 e erWEIGUITHETEET @HLILY 2,200

S].fIOW how the .fol_lowing items appear in the income and expean‘tﬁ:re account of Sirkazhi
Singers Association. |

Lo

Stock of stationery on 1.4.2018 2,600
Purchase of stationery during the year ot 65007
Stock of statiomery on 31.3.2018 2,200

25. @eru pLL Ldlifey samsg ar gurfasiuL. Cauar@m ?

Why is Profit and Loss appropriation account prepared ? T

26. @ Hnouasdler sLbS b5 e Haaflen @mrru@éeh Lﬂs&rm@m@;
2014 % 10,000;
2015 ¥ 11,000;
2016 3 12,000;
2017 % 13,000; .
2018 T 14,000 | -
5 oy, ar(h&eT grref QamugHle 2 S @THEeT Qarearapge eramn g ienLudle
pH@Uwflen wilimus seasSlLaLb.
The following are the profits of a firm in the last five years :
2014 Z 10,000;
2015 T 11,000;
2016 ¥ 12,000;
2017 T 13,000;

2018 T 14,000
Calculate the value of Goodwill at 2 years purchase of five years.

[ Hmiys / Tum over
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27.

28.

29.

30.

12

Hurs g1 eremmrdd oreier ?

What is sacrificing ratip ?

@) &Hs @@ Tally Solutions Tally.ERP 9 creyid Qoen@ur@mer idlapsid

Ceaiisg ?
() orhg sesE Ll weanamu @ks Cwadurmer WarupmEng ?
()  In which year did Tally Solutions introduce Tally.ERP 9 ?

(i) Which system of Book-keeping this software follows ?

L wsadlar uaGaum Wflejsmer GHILKGHS.

What are the divisions of share capital ?

@aru CErEsLHY DAMLILGEREES BTG aHsibsr Haar .

Give four examples of Non-Profit Organisation.
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32.
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u@d - 11/ PART - 111

“m‘f’-'(g“-“é?lﬂb g amss@Ens@ ol wallGseyn. eunld eflanr erar
40 -&@ sL-Lnuwrs e wallsseib. 7x3=21

Answer any seven questions in which question no. 40 is compulsory.

Heneumb sseudaefledmig s edbLamaraniu srameyLb.

slleumd 4
2018 eriiped 1 oyeimy sL_anmeflsr 1,00,000
sLamailsafl_18mHs Qubm Qrrésd 2,30,000
DleMES SemEernLilg. 5,000
2 &1 FpLib 25,000
2019 g 31 gyem sL_emeflEar 1,20,000

Find out credit sales from the following information. -

Particulars C. g
Debtors on 1* April 2018 1,00,000
Cash received from Debtors | 2,30,0[][_)
Discount allowed | 5,000
Returns inward 25,000
Debtors on 31* March 2019 1,20,000

QUmBDHSEET DHDID G&Qp;_’r,gsha;m sasHDED, aumeril whmnb Csweiland
sersSHEGID 2 arar Gaumur®aer gGaeib gpanmleners @gf)]rjiﬁh_eqm.

State any three differences between Receipts and Payments Account and Income and

Expenditure Account.

[ HpLiys / Turn over
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33,

34.

35.

36.

S6NST eramLeUT G sl Larrenin [HpeIansSen Fal LWl c94enJ.r°r CUPSELOTS
@aIBeurm wrswb T 2,500 cr@ssis Asrardpm. Gr®u"l_5m byl ail-iy
< &T(HHG 4% sarsd UL Ceuam B, eT(H LILj&aT B5! GUL‘Eq’ E_Wg.rﬂ S
Gepewl LwaL@RSS SpssaTL @GPt samsdl LG, AT :

() @aGaunm wrss Csr_sssdd THSHHBSTE

() eeQeungy wrg Qe uled TBSSHHSTD

(i) ¢peuCeurgp wrs. QmiFuie aHSHHHST -.
Kavitha is a partner in a firm. She withdraws ¥ 2,500 p.m regu
drawings is charged @ 4% p.a. .
Calculate interest on drawing using average period.  If she draws
(i)  at the beginning of every month

(ii)  in the middle of every month

(iii) at the end of every month

iarly. Interest on

Eﬁ)@ummﬁg EroreflE@n sryawilser sranauGueld ppeplener eT(LpS!S.

State any three factors determining Goodwill.

s HYID ST @Habd sl Lraflsdr, 4 :3 eream NdlgsSled GeomLid
wHmb HLLEGmeT LSTNbS BT, eflaflsm eremueui eflbemellL b 1/14
LG wHmd soereillBlmbg 1/14 LRIGD Cubhm sl L Tamrenoule
CemAomi. seirseflar L Geru véiay elfzbd LHMD Swrs N0
SETEHE L_GLD.

Vimala and Kamala are partners, sharing profits and losses in the ratio of 4 : 3. Vinitha
enters into the partnership and she acquires 1/14 from Vimala and 1/14 from Kamala.

Find out the new profit sharing ratio and sacrificing ratio.

Crrad, 78 wHOID @prenfl eramp SalLraflaeT SEsGeT Gerumisdr LHHLD
I LIEI&EmaT LD LAiBgl eubsent. 1.1.2018 26 18l sl L remerLoudasmbs)
fevdlenmi. ibBIePETL @muybleowsEiudea dersgser ussb I 45,000
LA BESSTT L LB &6 @mueous STLGWE. LSTFHEsTT BLLSMS
LdlipsefishsTear GAICULE ufdlomas sreqo.

Rathi and Rani are partners of a firm sharing profits and losses equally. Rathi

nership on 1.1.2018. On that date, their balance sheet showed
e asset side of the balance sheet. Give the joumal

Rosi,
retired from part
accumulated loss of T 45,000 on th
entry to distribute the accumulated loss.
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LI aﬁlmum&smma; Gasrrmr(ﬂ LS]GUT@J@LD @@u(ﬁul_@u uglma;emm ;Blang)sq

CEdweyb.
w6 eNleumid Gu.e.| —PO susy
Sl [ g g
1 12,00,000

LI ellaoremTiiLids 5/G

(g elaraniug QsTens:

LG (PBQISE THOLILILL )

EE S .

1 1z 3 ofisb 4,00,000 R
um@5@5@’6ﬁ]wwﬂu‘$: g oReE o i 1o
Qgrens GUpLiLIL L &) v i ;

2

‘Complete the following journal entries by ﬁ]]jng. the missing information.

Cr

(Application money on 4,00,000
shares @ T 3 per share received)

Date Particulars LE
3 i
A | 12,00,000 |
To share application A/c
1

(Application money transferred
to share capital A/c)

[ Spriys / Tum over
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38. Grailued HywsHer Gereum FsaudsaileBbs @UELE a@omer

2APlE@soWS sWrt Qeiiwew.

2015-16 | 2016-17

edleuip - e 4
sflpuear eweotd ALipHm eumeums 40,000/ 50,000
Qu&ss Qsweyser _ . 25,000{ 27,500
eucmLomen aufl % (eufd@ petranit 2 drer GerLisdled) 30 30

From the following particulars, prepare éomparaﬁve income statement of Daniel Ltd.

g 2015-16 | 2016-17
T 4

Reyenue from operation 40,000 50,000

Operating expenses 25,0001 27,500

Income tax (% of the profit before tax) 30 30

39. sansdlwe sremreuand GHSS Am @GP er(pseyb.

Write a brief note on accounting Vouchers.

0. Qaru gerew dfgmaer wraa ? e elamaudd GeuelliLBSSLI-

LhSlemen ?

Name the profitability ratios. How are these ratios expressed ?
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@S - IV / PART - IV

emenggl SlaméaEnsEn oflenwelldsayd. 7x5=35

Answer all the questions.

41, (=) 2018 gUTe 1 Siaim &UT SengyienL W Qgmrflee T 1,20,000 (P SE) L6
Qm_tBEl Q. jeul pepIITET seniCa@samants Lymofssaildeme. 2019
wrirg 31 Sam SeumaLw sl bl QupriulL efeuFmi&eT

1S eTeu(HLOTD).
edeumb 4 e h) %
curldl GLoed euepTLILIDMI 50,000} graslmLiL 1,60,000
sL_aumerflseT 1,80,000 asL_eu“r’;'r;Ggrrr'r 90,000
QumsHE W rHmEF (5 70,000\ Qsqussd &M LrpnIEE G 2'40f000
Euil 30,000|ena Q&S0 60,000
(@u_@gﬂmb 3,00,000

|G G IT T I 6 DUl HeneyenLW Qerps LwasE T 30,000 THSHE
QameRTLT. yclaumay® Sfeui Clamam( abs B pse I 40,000
SjaU(HenL @aruh SOV BULID SERTLHILIGYLD.

| 3{60605)

(<2p) SEES W 5566 eIy erevalrm 9p HEUD S LILEEREE

2 e fngl ? AaTéHES.
[ s / Turn over
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18

(@)  On 1% April 2018 Subha started her business with a capital of T 1,20;00;1)- b?h? did
Not maintain proper book of accounts. Following particulars are avatiable rom

her books as on 31.3.2019.

Particulars z Particulars X
Bank overdraft 50,000/Stock-in-trade 1,60,000
Debtors 1,80,000|Creditors 20,000
Bills Receivable 70,000|Bills payable 2,40,000
Computer . 30,000|Cash in hand 60,000
Machinery 3,00,000

During the year she withdrew Z 30,000 for her personal use. She introduced
further capital of T 40,000 during the year. Calculate her profit or loss.

OR

(b) How accounting information system helps the other information system ? Explain,

2. (=) Bpssrapd Hned wanodip wapSar AUnEOSET LHDID CFaIEEEST
Gamdslelmbgl 2018 wriF 31 b Fréemm(H wpigeueL WD < &THEE ML
aumeuml Hmib Ceweleans samsdaman swrfésabd.

96060

AL L4 OlFepI5H6056m %

Qsm_&s @)mLiL DIDDHQET cUTIS) wg | 10,000

@& Qrrésh 11,000 qurrL_enas | 2800

LIBISTSMULD CLpHng| 27,600 Qsweot i Huid 15,000

“uenpw Qawidlgsrer allpmg | 3,000|gLime @3@@%& | 1,700

o mnfei bsm 31,000|Qungé Gseeysar 4,350
Lnglsmiy QUL & eurLens 8,000 oy 5 LODMID &T(ipa -

Clummeraer: 45,000

wgedhEar Bgmar el g L250| gemflsenas s ammin 5,000

<le@nseer elpng) >000 @m# @iy
(L@ iy T 4,400) @5 Qrrésn 3,000
- 50,650 86,850
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() GuflsavLen BinwsHer Geraumnd @oru-plL Sifsmaulambs :

(@) -

@) Gwrss Gar s
@)  Har Qe elfsn s en ‘

Qa6 Himio e Bleomu-plL Siflsms

edaumid z

I eﬁlmummtﬁ]aﬂ@g@ QUH® eu(mHE! 24,00,000

I @sr eumLomanib : b ’
a8 Bsefasmbey GLibm eumBLTETD 70,000

I Quongs eugeumis (F) o - | 2470000 -~ - |

|V Qeeveyser : " R it
G]asrreh@gjeb Q515 FrEEGsar o 18,80,000 i
Fr&E (MmUY wIHD D (—) 80,000
vienflumert pechis@pésrear CleeaEeT 2,90,000
@57 Qseweysar 1,10,000 y

afl pEéE | | 30,000 "
Gords HEgea|ser 22,30,000

V 96U metTiy 6T @)evmLiLd ¥ o) 2,40,000|

From the following Receipts and Payment Account of Trichy Recreation Club,
Prepare Income and Expenditure Account for the year ended 31.03.2018.

Receipts < Payments -4

To opening balance By Furniture purchased {10,000
Cash in hand . 111,000|By Rent 2,800
To Dividend received | 27,600|By Secretary's honararium | 15,000
To Sale of old Newspaper 3,000|By Postage 1,700
To Member's subscription 31,000|By General expenses 4,350
To Locker rent b 8,000|By Prin"iy\'ng and Stationery {45,000
To Interest on investment 1,250{By Audit\fees 5,000

To sale of furniture 5,000 By closing 'ba\lance
(Book value ¥ 4,400) Cash in hand 3,000
86,850 | 86,850

OR

‘ [ &i@wLriys / Turn over
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(b)  From the following statement of profit and loss of Dericston Ltd. calculate :

() Gross Profit Ratio

(i)  Net Profit Ratio

Statement of Profit and Loss

20

Particulars 4 3
I Revenue from operaﬁons; 24,00,000
I Other Income :
Income from investment 70,000
IIT Total revenues (I+1II) 24,70,000 |
IV Expenses:
Purchase of stock-in-trade 18,80,000
Changes in inventories (—) 80,000
Employee benefits expenses 2,90,000
Other expenses 1,10,000
Provision for tax 30,000
Total expenses 22,30,000
Profit for the year 2,40,000( -
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43. (=) Weraud ssudsalladmibs srpd wHHID Hiod) 6T G sat_Lmreflsaflen

WPEV SRHGHMar ojursaflar (psd Hloew PGS B mEEGD Gurgl

swrflésa|ib.
P o1 | oo
3 3
2018 gemeufl 1 sidmp @pged 1,00,000{ 80,000
2018 gemeufl 1 yemm BL1LE SeT5HE
(a)| 5000] 3,000
2018 a@ﬁﬂ ) | ‘93’-@‘550 (50?_593
QamewT(h ajp(&;@ 10,000| 20,000
2018 oy ey 6T GTRLILGET 20,000 13,000
er@UYsET g auiliy 500 300
2018 -6 @ LEE 10,000 8,000
pse Bz el 6,300{ 5,400
sarglwib 9,000 -
siflay : 1,200
260608
(<) e Himiogdlen 2018 Lo 31 -2yl Brenam CILTE) Harey QUL bleas
@GPy swriléEsa|.
L 2018 1omrg 31
GIE]G}JIII.D n
L4
I UBIE APSEID wbmid QuUIrmLiL|&eT
LikI@STIT B3 2,00,000
Bar_smeL @QuimmyLIL|&eT 1,60,000
pLLIL{U] QuirmLIL|EET 40,000
Qurgsid 4,00,000
I Qerggser
BaL HIVE QaFTHGHeM 3,00,000
BLLILIE QErgg)Eem 1,00,000
Qs 4,00,000

[ Smiiys / Turn over
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() FErom the following information, prepare capital accounts of par tner‘s Shanthi
and Sumathi, when their capitals are fixed.

——

' Particulars Shanthi |Sumathi
z 4

e NN

Capital on 1* January 2018 1,00,000/ 80,000

Current account on 1* January
2018 (Cr)| 5,000/ 3,000

Additional Capital introduced
on 1* June 2018| 10,000 20,000

Drawings during 2018 "'| 20,000( 13,000
Interest on drawings 500 300
Share of Profit for 2018 10,000 8,000 p
Interest on Capital 6,300] 5,400
Salary 9,000 Nil
Commission Nil 1,200

OR

(b) Prepare common-size balance sheet of Meena Ltd. as on 315t March, 2018.

Particulars 31% March 2018
%

I EQUITY AND LIABILITIES
Shareholder's funds 2,00,000
Non-current liabilities 1,60,000
Current liabilities 40,000
Total 4,00,000
II ASSETS 1
Non-current assets 3,00,000
Current assets 1,00,000
Total 4,00,000




ol 4207 (NS)
4. (=) <psiey LI, shan LD CLalud 2pAGuT @ Hneasilen
Sl Lmall&6T. salLramanio gLILIT6UwTLD QaarsGurg e -

euaaumeny ereueumy CupGarerelisar ?

@) pEmey eramLicT SiHls (PSD auipriglujerarti Sieu apse 18 uLlg.
S @THEES 10% CemmAmmi.

@) urer ga@aurp wrewd I 3,000 crQEsE Asrardpr. el

sl Lraflsar ureoredLn parh&E 8% c@UUseT B el
AoeuasnE SiefEEorg Gar_SpTisar. airad LT SASer

@uqé;GlaarrsimTaﬁlsbmeu.

Heven 5D AfssH LAipsaiss Gaamdl

(iii) @QJ,,&rrdq: @Gurru;},
Qs raTeraileLaned.

cr@r i, e G &al L TaTlGET ABEME UL

(v) Cafwue S $uCETE@sUD Gsmflei® QsaelHausted e

geulaum(® wreptd 10,000 2arglwid CauamB@Quarm CammSDTT.

&L_60

TSI DE auipsLincL sLer T 50,000 S{euit

@ sps@en® Ho |
12% Couam®@weny GaTEHSDIT.

S5 ity BETOE

{60603
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(‘%)@f‘m—l BLLiusemar swwrsl udlibg Qsrar@ph Ggev LOMID
gevigareller 1.1.2017 -1b prerenenpil Gmu Henas@EHiy \QesTeu LT

Qg Ciysen E4 4 Qg gIH6n 3

WPED HeméEEeT SLLL LD 70,000
Gegibaiv 40,000 Fr&d LI 30,000
mevigam  |50,000] 90,000|g_enrefser 20,000
cutidl Qrmésb 15,000

sLaBGsr ©35,000) pengal_in & QsensHu
STULEE 5,000

sriy B 15,000

1,40,000 1,40,000

@mﬁj&gﬁ]u_z Bratled Limeven ereuicuany erdlisme Gerusdled 1/5 undlneg
Qesraumd ellaurmisear Sjglitenufed sl raturs Csrggean.

() wreer T 25,000 g Csremh eubST.
(i) BHOLWND SeumLW LRIETS 10,000 Qyrésons ATt eubsT.

(iii) QardgIHT SDSHMILAIMD wHIAtu’ L e ;s T 80,000,
sLanreflsaT T 18,000, ar&dlmuy T 33,000.

CaeneuImen GG (& sems@amar gwrm deiig sl refl Cemubne
GlesTau(mHLD @i Hlenas Ghilenar swrt CQFwiwiayib.
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(b)
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Akash, B
Ginel Hsla, C.handm and Daniel are partners in a firm. There is no Partnership
. W will you deal with the following ?

G A ;
() kash has contributed maximum capital. He demands interest on capital

at 10% PeI- annum,

(i) Bala has withdrawn % 3,000 per month. Other partners ask Bala to pay

il:ltereSt on drawings @ 8% per annum to the firm but Bala did not agree to

(iif) Akash demands the profit to be shared in the capital ratio. But others do
not agree.

(iv) Daniel demands salary at the rate of ¥ 10,000 per month as he spends full
time for the business. - : :

(v) Loan advanced by Chandru to the firm is ¥ 50,000. He demands interest
on loan @ 12% per annum. |

OR

The following is the balance sheet of James and Justina as on 1.1.2017. They
share the profits and losses equally.

Liabilities 4 T Assets T

Capital accounts Building 70,000
James 40,000 Stock 30,000
Justina 50,000{ 90,000{ Debtors 20,000
Bank 15,000
Creditors 35,000| Prepaid Insurance 5,000

Reserve Fund 15,000
1,40,000 1,40,000

4

Balan is admitted as a partner with 1/5 share in future profits. :

e above data - as
n , s admissions.

Following are the terms for hi
gs Z 25,000 as capital.

(i) Balan brin
s Z 10,000 and he brings cash for it.

(i) His share of goodwill i
ts are to be valued as under :

(iii) The asse
tors T 18,000, Stock I 33,000.

Building 80,000, Deb

ry ledger accounts and the balance sheet after admission.

Prepare necessa
[ Smliys / Turn over
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45. (=) Gemaumid efeurtiseamars Qaran() LLamOSsTMS (armuiley .EJ,'i)@U'“J‘ﬂGh

&llienLIs gamadLalb.
O  vweau@SsOULL wpse T 50,000.
(i) emgrrew Qe Nsn 10%.

(i) 2016, 2017 wHmD 2018 b paTHseier @erumser pePGL
% 13,000, ¥ 15,000 wopmytd ¥ 17,000.

(iv) 3 ear@sealler 10% ey efssde T 1 -ar sHGCUTDGW
< (HSCsTens WAL I 2.4868.

{060

(<) (PS& uerTwm Uk garm I 10 aigLd 50,000 Lrki@gHener emeu(HLOmm)
Qegusgib auamanmd QeuefuilLg|.

Aamerriingden 85 T 2, pE&s e B85 T 4, psd LHMIL QmE
<ievwpliden Bg T 4.

1,000 URI@GSET eeuGFIETar @MmeuT Jewlins Qsresmw
Qegusgeilwae. Qeogssdy gomau ymass ©HTmssEpL
QupLiL Lar. Sy Haieer samddoan uuaGss GHLGULH

LIF6L&HET SH(HS.
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(a) From the following information, compute the value of Goodwill as per Annuity
Method.

()  Capital employed ¥ 50,000.

B

(ii) Normal rate of return 10%.

. (iii) Profits of the years 2016, 2017 and 3018 were ¥ 13,000, ¥ 15,000 and
% 17,000 respectively.

(iv) The present value of annuity of T 1 for 3 years at 10% is T 2.4868.

OR

(b) Muthu Ltd. issued 50,000 shares of % 10 each payable as follows ;

Z¥2o0n application, 7 4 on allotment, T 4 on first and Fivial call.

All money were duly received except one shareholder holding 1,000 shares
failed to pay the call money. Pass the necessary journal entries for calls by using

calls in arrear account.

[ pLijg / Turn over
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46. (1) 886y HMID HF6m GMEUHLD @6 Tl LT HpeuarsHe g _L_maifl 5.
Dleuaar 4 : 3 erany elflssHd @erubd wHmID BL_L_EIGEETL LSTHS
auélemmentr. 2018 eriiped 1 e &8 eremIeIeT Fal_Lmaflurss CaiigH%
QarewrLenit. 58 gal Lramenioulles Cairhs ey Hmeuar o® «'I’»r-b@uu"fr
wHinldear T 35,000 erenp STLiGWF. WIPUGD PSS gp@puile
urmoflEstiu@easrs smd Comanrar @GHiGLL HLI u@mﬁmmﬁ-"? ye|LD.
Fal L maflser Ganeupd geilerar er(Bgge.

() glige 2 erer pHALWIT CS5TOE LPLHEIMSLILD CunsLspgIe Sl
(i) & o drar HHELLIT T 21,000 o Gib CurEAspgies). CIBULL-
SEeUDEmeT HlTIL|s. |

LA Seuri Gu. | uppr | T
L1.6T. 3 3
gfaflan apsed &/ U
sgeilen pFd &/ @& U
BHEALIWT &/
( )
BITET | e eunid i Bloju Ll
L1.6T. L4 <
&/ @ U 12,000
&/ U 9,000
( )
9|6V605)

(=) Siigie cuenym Hlmiod 310 o 1Lydrer 50,000 Lkigsemer Qeuaiudi L g.
SoEgS sTesHL D, AamariiLggLer QegiFgwrn 196meamLb
Aeoosald GRLGCULHU uflellener sreyw. -
() ukigsmer pswdlide Qeuafludi’L_mep,

() wvmGsTamm 3 WweansSle Qeuafud L_méd
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(a) i}iinsél Elgd Slidhan. are partners in a firm sharing profits and losses in the ratio
el n 1% April 2018, they admilted Sasi as a partner. On the date of Sasi’s
mussion, goodwill appeared in the books of the firm at < 35,000. By assuming

?c:l.ctuahng capital account, pass the necessary journal entry if the partners decide

()  Write off the entire amount of existing goodwill.
(i) Write off T 21,000 of the existing goodwil.

Complete the following journal entries by filling the missing information.

Date Particulars L8 s o =
Sathish's Capital A/c Dr
Sudhan's Capital A/c Dr
To Goodwill
( )
Dr Cr
Dat Particul LE
ate articulars - z
A/c Dr 12,000
A/c Dr 9,000
( )

OR

(b) Abdul Ltd. issues 50,000 shares of ¥ 10 each payable fully on application. Pass
Journal entries if share issued (i) at par (ii) at a premium of I 3 per share.

[ g(@qu, / Turn over
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7. (=) Caell Bmingder ereumib ssadsaidmbe erédEIL 5'%9'3)5] a1
DD STSAMmLL Thns STegmsLD (WrshiGaiD) HeTSSILaL.

elleumio 4
eflhuear apen Aupp aumeuT 12,00,000
Dl GUeuTaTly 6t ABML_dmsdla srHHmL 1,70,000
< 6LIGL TEUTIq 6hT @Q@ug]@ g_l,ﬁg—,g]@m_l 1,30,000 |
<2 GLIGU TEHTIg.¢) CSLDﬁ\)IQasrrsldtrr_‘!:_ QameTpsed .6:90/000I |
| 2 G Faedl 20,000

96060

S i
i

(<) @rdenn, LrevsT wHmd @uipradid <pdlu sl Lreflser 2 :3: 4 eren
cildlgsdler @emu BLLBIGemer LSTHE eubsernt. 2018 gsbum 31 Siemm)
@usenm @opg N LiT. DeunsGF Geags Ceuargw Qmdls Osrans
7 1,00,000 aurey @eplibenans srigwg. Spssar GhHlaasaid

G&PLUCULOL Ldlasamar Grajw.

@ Cor Caamgug Qsmes o Lenwus sTGsmo g Csgissi-

L g

Cey Gauamgw Gerens 2 L angurss CeaissiiLialdme.

(iii) ¥ 60,000 GTCFTENE PP 2L 6igLiMs ClegusaliL L g.
@npg Curar sl LraflsE (Qusem) Aequss Ceuamgw Cgrans

(iv)
wrméE QeigsiuL GaamGin ?



31 4207 (NS)

a) . Fro i i i
() Conm the gwen. mfo.rmahon calculate the inventory turnover ratio and inventory
version period (in months) of Devi Ltd.

Particulars 4
Revenue from operations 12,00,000
Inventory at the beginning of the year 1,70,000 o
Inventory at the end of the year .  1,30,000 5
Purchases made during the year | 6,90,000 |
Carriage inwards 20,060
OR

(b) Ratna, Baskar and Ibrahim are pariners sharing profits and losses in the ratio of
2:3: 4 respectively. Ratna died on 315t December 2018. Final amount due to her

showed a credit balance of ¥ 1,00,000. Pass journal entries if; Bt
(i) * The amount due is paid off imﬁledié&—:ly by cheque.

(i) The amount due is not paid immediately.

(iii) ¥ 60,000 is paid immediately by cheque.

(iv) To whom the amount due to deceased partner (Ratna) will be given ?

-00o0-



